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402 SI2F 20| & 30,000 20,000 10,000
= 15,000
& 3,000
Al 12,000
02 QIZtRIE2AISE & M) 30,000 20,000 10,000
024 A= ASMMIIUEE XD
10,000, 000& *2J0 2 *50% 10,000
= 5,000
= 1,000
Al 4,000
OFsQ Fepleua X
10,000, 000& x4 & *50% 20,000
= 10,000
= 2,000
Al 8,000
TAO sSERX XH 16,880 30,000 A 13,120
201 et 10,500 26,500 A 16,000
01 AP 2t 2] d| 10,500 26,500 A 16,000
OHAsHE EE=2 MRS ES;
2,500,000 x2= 5,000
OAsHE X A NHE HAIE
100,000 x10H *33] 3,000
OHsHE 29228 5 +¢
250,000& x5= x23| 2,500
202 044l 2,880 0 2,880
01 2L I 2,880 0 2,880
OAsAE & DS Y HEs FHA
60,000& *3H x163] 2,880
301 et A =2 3,500 1,000 2,500
09 HAFA H| X & 1,000 1,000 0
OH=sHE & 3 A B4
250,000 x4 1,000
12 JIEtE A= 2,500 0 2,500
OAsHE /2SS LA=H 250,000& x103] 2,500
MRS SMAMASINK(EsIITI)=sLR) 9,500 15,000 25,500
= 4,750
Al 4,750
201 et d| 7,500 13,000 A5,500
= 3,750
Al 3,750
01 AR 22l ] 7,500 13,000 AN5,500
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Os(dnsgel) 8 A48 U= 7,500
— WA & 24,0003 x50H 35 3,600
2 1,800
Al 1,800
—ZA=E 500,000& x4 X 2,000
= 1,000
Al 1,000
— &= N 50,000& *4Z& 200
= 100
Al 100
—Xg 2 700,000& x13] 700
2 350
Al 350
—2Z=8 7Y 50,0003 x5& *43| 1,000
2 500
Al 500
301 LEd = 2,000 2,000 0
2 1,000
Al 1,000
09 SALAHIX A S 2,000 2,000 0
OFS(MRselol) HaEAS A B
40,0003 x50 13| 2,000
= 1,000
Al 1,000
M=o SEAMSUSHEESIH SEAUSUSR) 60,000 54,000 6,000
= 30,000
Al 30,000
307 21201 A 60,000 54,000 6,000
= 30,000
Al 30,000
02 It M AHE L 60,000 54,000 6,000
OF=se =)t SEAEs U=
1,200,000 1000 & 501 & 60,000
= 30,000
Al 30,000
B (ZF)NMN SM A0HED 15,000 0 15,000
< 7,500
Al 7,500
307 21201 A 15,000 0 15,000
< 7,500
Al 7,500
02 IS AHE L 15,000 0 15,000
O=&0MN HH A0t2I] 15,000,000 10 £ 15,000
< 7,500
Al 7,500
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= 3,000
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01 At 2t 2l 7,000 0 7,000
OAsHE <&l ot 7,000,000& 13 7,000
< 2,100
Al 4,900
202 (44l 2,040 2,040 0
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Al 1,428
01 =LHOIHI 2,040 2,040 0
OFASHE srersl &It ol
68,000 x6%F 52 2,040
< 612
Al 1,428
301 LeEBAF 960 960 0
< 288
Al 672
09 #HALAHIXI &3 960 960 0
OFSHE 22s B4 24
60,000 x4 x4 960
< 288
Al 672
dssH ds XS 21,000 0 21,000
< 9,000
Al 12,000
402 BIZEXHE0| A 21,000 0 21,000
= 9,000
Al 12,000
02 RIZtXt 2 AL EZ (OIS ) 21,000 0 21,000
OYssA Fds AN
30,000,000 *1JH 2 x70% 21,000
< 9,000
Al 12,000
HEsQ0 4T2Y SSAY 14,000 0 14,000
< 6,000
Al 8,000
402 BIZEXtE0| A 14,000 0 14,000
< 6,000
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01 At 22l 4,000 6,000 A 2,000
Ouldl AsFHEL BE0 X2 NS
1,000,000& 2 »23] 4,000
03 A2 S HI 3,000 3,000 0
Ouldl AsFHEL BF0 dM2EH K&
1,000, 000& *32l 3,000
301 LA F 99,080 232,600 A 133,520
09 SALEHIX A S 9,080 12,600 A 3,520
Ouldl AsHEL BE0 AAH X2
80,0003 38 +23| 6,080
OAsHEZE2 It dAAH K&
250,000& »4H +33] 3,000
12 JIEtE& = 90,000 220,000 A 130,000
OF=sel sk gz XF 2,500,000 20 50,000
OA=sHEL OlAEHIE XN
1,000,000 2004 2~ 20,000
OFs0l 012X0 ZHHA
1,000,000 2004 2 20,000
307 glz2+ol & 30,000 70,000 A 40,000
12 QI2tol 2 &=l 30,000 0 30,000
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SAN=sg 243 481,350 291,745 189,605
= 15,000
= 8,000
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101 @124l 47,700 45,975 1,725
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—ogaRsy
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OZAN=sY E28 28 ME
5,000& *2Z +1,000H 10,000
OZAN=sg E2E &8 MZ 490,000 *5H 2,450
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